11

* LR SEBEDHATICAYFHITTEEY,

* Adhesive rubber feet in cluded.

13

430

¥ERLINZ / Components

No. & ¥ / Part name #= / Pcs #ME / Material & - RE LI / Color-Finish
1 A= b2 AT 9 1 7 JLEHR A1100P YN =FWRAL, 753997 b Ab
Front panel Aluminium A1100P Silver anodized , Black anodized
2 YT 3% 1 T ILEAR A1100P YN =TWIAL, 77T RAL
Rear panel Aluminium A1100P Silver anodized , Black anodized
3 YARTL—L 2 TILEHHH A6063S-T5 Y-8 THBE
Side frame Extruded aluminium A6063S-T5 Gray painted , Black painted
4 JavkIb—L 2 TILSIRH A A6063S-T5 TU-EE TIVIER
Front frame Extruded aluminium A6063S-T5 Gray painted , Black painted
5 )7IL—L 2 TILERH# A6063S-T5 YWN=T LA+
Rear frame Extruded aluminium A6063S-T5 Silver anodized
LEH/\—/ Top cover 1 7 IL2HR A1100P / Aluminium A1100P | 34M'L—3B3%E 759984 / Light gray painted , Black painted
F#/3\— / Bottom cover 1 7 ILZ#R A1100P / Aluminium AT100P |54 L—33E | 759933 / Light gray painted , Black painted
8 a——Javy 2 TIVEH 4F v AR ADC12 YL-BE | THBE
Corner block Diecast aluminium ADC12 Gray painted , Black painted
9 D7 74—hk 2 EIMMEABSHEE (UL94V-0 ERLS) b=, 7399
Rear feet Flame-resistant ABS UL94V-0 Gray , Black
10 3L 2 / Rubber feet RYrHL A / Polyurethane 7799 / Black
11 H{TE R (M4 x 6 ¥3) % =ffiyni-+
Screw (M4 — 6 Countersunk) Steel Trivalent chromate
12 B{TE R (M4 x 8 FN) 8 &% =ffiyar-+
Screw (M4 — 8 Pan head) Steel Trivalent chromate
13 HATE Z (M4 x 10 /A R) 4 % =R R -+
Screw (M4 - 10 Binding head) Steel Black trivalent chromate

&8

m/Title
BRIHIDTFERIR A—ILTLIVRT LT —2 O]
Bk (BFEFRED) / Color type (End of product number]) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. DESKTOP ENCLOSURE
205 / Code N )L / Panel L+THsN— / Top - Bottom cover | HAKT7L—.L / Side frame 758/ Approved #%[X/Checked [/ Created F4Z& /Product number RIE/Scale
GS < )LsN— / Silver 5S4k L— / Light gray J'L— / Gray MO88-43-35[1
B 7599 / Black 75v% / Black 7397 / Black iR X 541 1/ 8
BS 2 )LIN— / Silver 75v% / Black 25v% / Black {ERL B /Date 2023/08/04




L
o B-B(1:55)

[ m
™
[ee]
£
e]
x
©
=
)7L —.1s1 / Rear framel ~
M
T T A-A(1:55) E C-C(1:55)
| |
‘ 400 ‘ ‘ A%tk / Max dim. 325 AHNT3E / Max dim. 409

. 82 kJL—Ls1 / Front framefl , | . |

)7L —..2 / Rear frame2

. 350 . . 430 )
| | ;
X 0
™~ ~
HAKIL—.L1 / Side framel 403 Y ARTL—L2 / Side frame2 400
2028270 —.L2 / Front frame2
.l 20.6
I
«© 4 /Title
S TAKACHI| #XRttohFERIE FLTFILILRTF L —2 {} :II
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. DESKTOP ENCLOSURE
& &8/ Approved & /Checked #1[X]/Created B F /Product number RI&/Scale
M088-43-3507 1:5:5
iR T ES 2o ) /8
YERL B /Date 2020/03/04




82 k/\RJL / Front panel

J~T3% / Max dim. 72

%

=l

1)J7/\4~)L / Rear panel

Bh~ti% / Max dim. 400

M / Front side

Bxh~ti% / Max dim. 400

$~t3% / Max dim. 71.5

%

o}

M / Front side

fREES—A

Surface protective film side

REE—HMA

Surface protective film side

403

78

ZE@ / Back side

408.5

71.8

ZZM / Back side

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

m4/Title
RV RIL YT ISRV

Front panel , Rear panel

O]
O

& &8/ Approved

iR

#&[X/Checked

£

#[X/Created

52

FF /Product number

H88 — W430

RE/Scale
1:3.5

YERZH/Date 2020/03/04




317.5

2-25 4245 27242
/ v
o) d o, T
202 Mal / Front side 2 8 9
~
5o S
35 237.5

o

20> Ml / Front side

HAFZL—.L1 / Side frame1l
I'J! Iéﬂ=0=(%}!
s
[ —
! — —

HAKIL—.L2 / Side frame2

mf/Title
TAKACHI| #XR#IHFERTE AR TL—L O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Side frame
758/ Approved 1% X]/Checked #[X/Created & /Product number RE/Scale
H88 — D350 185
iR X A
1ERk B /Date 2020/03/04 478




403

30

R4 _.E‘,
o e
N
© < L 5 7
393 2-M4FH S}
! 2-M4 Countersunk

3

202 k7L —.L1 / Front framel

i
=)

208270 —L2 / Front frame2

mf/Title

BREUINTFERTE

JO R0 —4A
TAKACHI ELECTRONICS ENCLOSURE CO., LTD
AR/ Approved #&[X/Checked

o]
Front frame
#[X/Created FF /Product number
iR

<L
RE/Scale
W430
3 Bt

1:3
1 B /Date 2020/03/04




411

20

g
&

)7L —.1s1 / Rear framel

—

1)J72L—.1.2 / Rear frame2

mf/Title
TAKACHI] #atautshFBRTE 7 IL— O]
s O
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Rear frame
AR/ Approved 1% X]/Checked #[X/Created & /Product number RE/Scale
W430 =3
iR X A
YERL B /Date 2020/03/04 6 /8




p—

6,75

399.5

426.5

15

319.5

R4.5

Exh~tiE / Max dim. 287.5

Bxh~Ti% / Max dim. 409

12

6.b

% /Title
TAKACHI] #steitshF BT E i O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
758/ Approved 1% X]/Checked #[X/Created FF /Product number RE/Scale
W430 - D350 '

{ERL B /Date 2020/03/04




p—

6,75

399.5

426.5

15

319.5

R4.5

Exh~tiE / Max dim. 287.5

Bxh~Ti% / Max dim. 409

12

6.b

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

m4/Title
Th/—

Bottom cover

o\ |
J |

& &8/ Approved

iR

#&[X/Checked

£

#[X/Created

52

FF /Product number

W430 - D350

RE/Scale
1:4

{ERL B /Date 2020/03/04




	シートとビュー
	MO88-43-35-モデル
	2
	3
	4
	5
	6
	7
	8


